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Read the following extract and answer
questions 21-26:

Water scarcity is becoming an increasingly
pressing issue in many parts of the world. With
growing populations and increasing demand for
water, many regions are facing shortages that
threaten agriculture, industry, and daily life.
Climate change is exacerbating these problems by
altering rainfall patterns and increasing the
frequency of droughts. To combat water scarcity,
it is important to implement water conservation
practices, invest in  efficient irrigation
technologies, and develop policies that promote
the sustainable use of water resources.

01. What is a suitable title for the passage?
a. The Global Impact of Climate Change
b. The Growing Issue of Water Scarcity
c. The Role of Agriculture in Water Conservation
d. The Future of Water Technology
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02.

03.

04.

05.

06.

07.

08.

What is the main idea of the passage?

a. Water scarcity is caused only by population
growth.

b. Water scarcity is worsening due to multiple
factors, including climate change, and
requires urgent action.

c. Industrial growth is the main reason for
water shortages.

d. Droughts are the only cause of water scarcity.

What is implied about the future of water

resources?

a. Water will become more abundant with
better technology.

b. Water scarcity will worsen if no action is
taken.

c. Populations will decrease, easing the demand
for water.

d. Water scarcity is not a major concern for
future generations.

Which of the following grammar structures
is used to suggest a solution?

a. Conditional sentence

b. Imperative sentence

c. Passive voice

d. Present continuous tense

Which of the following spelled is correctly?
a. Droughts b. Scarsety
c. Resorces d. Implemant

Identify the parts of speech of the word
"efficient™ in the sentence "'Invest in efficient
irrigation technologies."

a. Verb b. Adverb

c. Adjective d. Noun

‘@ % coxq - Which one is the correct
translation?

a. As you saw so you reap.

b. As you harvest so you reap.

C. As you Sow So you reap.

d. As you reap as you harvest.

Arrange the following in sequence (Dictionary

Form):

i. dehumidifes ii. dehumidified
iii. dehumidifier iv. dihumanising
a. v, i, iii, i b. i, iv, iii, i

c. v, i, ii, i d. i, iii, ii, iv

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Choose the correctly spelled word.
a. lisence b. publically
C. receive d.bandc

An organ is group of tissues capable to
perform some special function as for example,
the heart, the or the lungs. Here which of
the underlined word is incorrect?

a. is b. tissue

c. to perform d. for example

What is the plural form of 'Appendix'?
a. Appendixe b. Appendixs
c. Appendics d. Appendices

Fill in the blank. This dictionary costs----
the other one.

a. twice more than
c. twice as much

b. twice as much as
d. twice as many

his convincing argument, the project
was not approved.

a. Although b. However

c. Despite d. In spite

The universities have opened recently,-----?
a. aren’t they b. hasn’t they

c. haven’t they d. weren’t they

The players are—tired—nervous.

a. very, but b. neither, or

c. either, or d. either, nor.

The man--- down silently and --his food.

a. sits, took b. sat, take
c. sat, had taken d. sat, took

‘Versatile’ means—.

a. Inept b. Multitalented

c. Mobile d. Varsity teacher

The antonym of ‘supernatural® is-

a. genuine b. fake

c. false d. ordinary

If you write about your father's life, you
are writing:

a. a diary b. an autobiography

c. a biography d. a chronicle

Which one is the right word?
a. adolesense b. adolescence
c. adolecence d. addolsense
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08. Arrange the word given below in a
meaningful sequence.
1. Probation, 2. Interview,
3. Selection, 4. Appointment,
5. Advertisement, 6. Application
%.5,6,2,3,4,1 4.5,6,3,2,4,1
%.5,6,4,2,3,1 €.6,5,4,3,2,1
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<. Hyper Text Markup Language
<. Hyper Text Make Language
a. Hyper Text Move Language
9. High Text Markup Language

. (I (157 ECIICAT 25 0 =0T WCo=5 1 =2?

<. NOR 4. 0OR
. NAND ¥. AND

HTML border SuifaiREw i 5y I67 emfe e

<. Border ="I" <. Border = "alt"
. Border = "0" €. Border = "null"
[RCERE L IREERC I R R CH

int main0{

inti;

for (i=0; i<5; i++)
printf (“%d”,i+2);

return 0;}

. 0BYY <, 03398

. 08eY 9. 8Ybd0

HIRTs SQL GRET T GG TG (I OO0 I3 F1 T2
<. SELECT ¥, UPDATE

7. CREATE 9. INSERT
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ephemeral, omnipotent, ambiguous,
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errors in the following sentences 05

a. She did not knew the answer to the
guestion.

b. The childrens are playing in the garden.

c. There is much cars in the parking lot.
He is taller than me, isn't he?

d. She has completed her assignment
yesterday.

e. Neither the teachers nor the student were in
the classroom.

f. He drives too fastly for my comfort.
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Answers:
Meaningful Sentences
a. The beauty of a sunset is ephemeral, lasting only a few moments.

b. Many believe that only an omnipotent force can control the universe.
c. His answer was ambiguous, leaving everyone confused about his intentions.
d. The artist was meticulous in her work, making sure every detail was perfect.
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02.

03.
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ox.

09,

Extract Answers:

a. The poet is conveying that not everyone who roams aimlessly is without purpose; some are on a
meaningful journey.

b. The poet describes the destination of the wanderers as lying in the unknown, suggesting an
exploration beyond the familiar.

c. The term "unbroken spirit" implies resilience and determination in their pursuit.
Answers:

The Impact of Climate Change on Bangladesh

Climate change has had a significant impact on Bangladesh, affecting both its environment and
economy. Bangladesh, being a low-lying deltaic region, is particularly vulnerable to rising sea
levels and frequent flooding. Every year, millions of people face displacement due to floods and
river erosion. The increase in temperatures also contributes to the decline in agricultural
productivity, directly affecting the livelihoods of farmers. Additionally, the rise in salinity levels
in coastal areas has made it difficult for residents to access safe drinking water. These impacts
collectively show that climate change is not just an environmental concern but also a pressing
socio-economic issue for Bangladesh. To mitigate these challenges, immediate action is needed on
both national and international levels.
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Which of the following words can be used as a
verb?
Ans: mobile, sand

Writing a diary is a very good practice to
develop the writing skill. The underlined part
is—

Ans: noun phrase

He is a man to depend on. The underlined part
is—

Ans: an adjective phrase

Samin is my colleague. I (know) — him for ten
years.

Ans: have known

Millennium is a period of-
Ans: 1000 years

This could have worked if I (have) ——been
more far-sighted.

Ans: had

The train is running —— the two children.
Ans: at

A number of singers in a church is called—

Ans: choir

'"To get along with' means —
Ans: to adjust.

What is the verb form of the word "ability'?
Ans: enable.

The phrase 'sine die' means —
Ans: uncertain.

Change the voice: "Nobody trusts a traitor'?
Ans: A traitor is not trusted by anybody.

The word 'flying' in the sentence "'Look at the
flying bird" is a-

Ans: participe

Identify the determiner in the sentence 'Bring
me that book’

Ans: that

"To Doctor an animal® means-
Ans: to sterilize it
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